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 �����1 


�� ا������� -1 ��

 B(5,6,0)و A(1,2,3)��ق ا���� ا����

A BV V E AB− = ⋅
��� ����

  

0

0E

E−

���

  و  

4 ( )

4 ( )

3 ( )

B A

B A

B A

x x cm

AB y y cm

z z cm

− =
− =
− = −

����

  ← 2103A BV V E−×− = ⋅  

6.    ع.ت 42103 10 3.10  A BV V V−− = × =× 

2- �� ��
  B إ��A*() ا��'ة ا����%
آ�! ا�#�"�! � � إ����ون ��� ا���

( ) ( )A B
A B
W F q V V

→
= −

��

+�  q e= − ← ( ) ( )A B
A B
W F e V V

→
= − −

��

  

19.    ع.ت 4 15( ) 1,6.10 3.10 1,6.10  
A B
W F J− −

→
= − × −=

��

  

): أي( ) 30 
A B
W F keV

→
= −

��

(  

( ) 0
A B
W F

→
<

��


وم  *() ← ��     

 �����2 

  :  ا�7() ا�6ي 34��5 ا��'ة ا����%
آ�!-
( )

A B
W F q E AB

→
= ⋅

�� ��� ����

  ←   ( ) cos
A B
W F qEl α

→
=

��

  

9.        ع.ت 72( ) 10 100 2010 1 cos30 1,7.100
A B
W F J− − −

→
= × × × ° =× ×

��

  

  
  
 

 �����3 

1- ��
 ��

  و *() ا��'ة ا����%
آ�!B و��Aق ا���� ا����
  

( )

( )
A B A B

P N P N

V V E x x

V V E x x

− = −
− = −

  ←  
3A BV V d

U d

− −=  

  

←   
3

A B

d
V V U

d

−− = ⋅    

.    ع.ت
5 3

1 000 400 
5A BV V V
−− = × =  

):         و *() ا��'ة ا����%
آ�! ) ( )A B
A B
W F q V V

→
= −

��

    

12.    ع.ت 10( ) 10 400 4.10  
A B
W F J− −

→
= × =

��
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:! ا�'9+ ا����%
آ�! � �87! -2;q ��Aو  B: 

  
� !��� ��M                :( )pe ME M qEx Cte= + 

�<

!�=>�� !�
? !"�
0: �
ر ا�8�AB! ا�@ 0 Cte= +  ←  0Cte =  

←  ( )pe ME M qEx=  ←  ( ) M
pe

x
E M q U

d
= ⋅ ⋅  

��
��

)     :و  ) A
pe

x
E A q U

d
= ⋅ )   و   ⋅ ) B

pe

x
E B q U

d
= ⋅ ⋅  

12.    ع.ت 104
( ) 10 1000 8.10  

5peE A J− −= × × 12  و     = 102
( ) 10 1000 4.10  

5peE B J− −= × × =  

!D'8 �           :10( ) ( )  4.10  pe pe peE E B E A J−∆ = − = −   ← !:E=ا� F�8�5   : ( )pe
A B

E W F
→

∆ = −
��

  

 

 �����4 

 *�ة ا�#�
ل ا����%
آ� -1

A BV V E AB− = ⋅
��� ����

    ←  ( )A B A BV V E x x− = −  ←  A B

A B

V V
E

x x

−=
−

   

.    ع.ت
2

3 1

10

0 400
4.10  .

( 2 8)
E V m−

−− =
×

=
− −

 

 Oا���� ا����

�� �� ا����! -2
( )O A O AV V E x x− = −  ←  0 (0 )O AV E x− = −  ←   O AV Ex= −  

3.    ع.ت 24.10 ( 2 ) 0 V0 81OV −− =×= × − 


:! ا�'9+ ا����%
آ�! ��87! -3;5 q Cµ= !ا���� �5'<� �M ل'B�H5ذات ا Mx cm=   

( )pe ME M qEx Cte= +  


ر ا����<

!��A !�=>�� !�
? :0 AqEx Cte= +  ←  ACte qEx= −  

←  ( ) ( )pe M AE M qE x x= −  

6.    ع.ت 23 3( ) 5 4.10 (5 ( 2)) 1, 4.1010 10  peE M J−− −= × × − =×−×  

  
 �����5 

  .��A�!���Nض أن ا�"�و5'ن BJ) ا�
��

��"�F �"�ه�! ا��
:! ا��8آ�! � � ا�"�و5'ن Mو N
�J�� ،   :  

  ( ) ( ) ( )c c
M N

E N E M W F
→

− =
��

Fوزن ا�"�و5'ن ��#) أ�
م ا��'ة ا����%
آ�!     (
��

(  

←   2 21 1
( )

2 2N M M Nm m q V V− = −v v  

←   2 2 2
( )N M M N

e
V V

m
= + −v v  

.    ع.ت
19

2 10 10
27

2 1,6.10
10 ( 500 ( 100)) 6,7.10

1,67.10N

−

−

×= + × − = −− −v  

2 0N <v :  ،(�8�@� ا�"�و5'ن ا����!و ه6ا (BJ �� إذن ،O�8P ��Q 
  .Nا���ا�9

!D'8 �       :0M NV V− 0q  و  > e= + > ← ( ) ( ) 0M N
M N
W F q V V

→
= − <

��


و�!ا��'ة ا����%
آ�! : ��.  
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 �����6 

1- !8�ABا� 
#��'Pو ��� Pا��
:! ا��8آ�! ��) أJ'ن 
�"��
��

P وFN �"�ه�! ا��
:! ا��8آ�! � � أJ'ن �J�� ،   :  

  ( ) ( ) ( )c c
N P

E P E N W F
→

− =
��

F ��#) أ�
م ا��'ة ا����%
آ�!وزن أJ'ن     (
��

(  

←   ( ) ( ) ( )c c N PE P E N q V V− = −  

←   ( ) 0 ( ) ( )c PNE P e U− −− = ⋅  

←   ( )c PNE P e U= ⋅  

19.    ع.ت 17( ) 1,6.10 100 1,6.10  cE P J− −= × ): أي  ( = ) 100 cE P eV=(   

 RA�� ن
=STJ ا��87! و RA� 

ل ا����%
آ�ا��RA� ���'JU ا��
:! ا��8آ�! Hن ��#�#. 
2- !8�ABا� 
#��'Pو ��� 
#�����% !"@�P 


 أن �RA� ���'JU ا��
:! ا��8آ�!، �Vن#
      :2 2
1 1 2 2

1 1

2 2
m m=v v   ←   

2
1 2

2
2 1

m

m
=v

v

   ←   
37
171
35

2 17

( )

( )

M Cl

M Cl

−

−=v
v

 

1.    ع.ت

2

37
1,03

35
= =v

v

  

�%35�! اJH'ن
17Cl −!��% �� E� : �"ن  أآ'JH37ا

17Cl −. 

  
 �����7 

1- ���8�ABا� ��
 �#�4ات ا�#�
ل ا����%
آ� ا�#�8ث 

� 3
���1
ل ���YZ، ا�5
ه� �#'دي � � ا����8�AB، أي أ���، ��8P�2 إ�P�5�* 3: ، و 15.10  .
U

E V m
d

−= =  

O:�#! آ) �� ا��'�5ات -2 MV V− و O NV V− و M NV V− 

�8�#� �"��JE
���


�E!، �� ه36 ا�8
���

) و  )Ox�8�#ا� RA� 
#��   :xE E= +  

A BV V E AB− = ⋅
��� ����

    ←  ( )A B A BV V E x x−− = −   

          :                                            إذن

( )

( )

( )

O M O M

O N O N

M N M N

V V E x x

V V E x x

V V E x x

− = −
− = −
− = −

−
−
−

  

     
3.    ع.ت                                     25.10 ( 2 ) 101 0 0O MV V V−− − =×− = ×   

3 25.10 ( 7 ) 351 0 0O NV V V−− − =×− = ×  
3 25.10 ( 5 ) 251 0 0M NV V V−− − =×− = × 

  "�و5'ن����%
آ�! ا�#�"�! � � ا��#�4ات ا��'ة ا -1.3
F q E= ⋅
�� ���

+�   0q > ←  F
��

E و
���


 �RA ا]�5
3 و �RA ا�8�#� ��#
F :   ، و *��5 eE=  

168.10.     ع.ت  F N−=   
�! ا�"�و5'ن -2.3�%��� M ��� Y\N  

F�"��

��ه�! ا��
:! ا��8آ�! � � ا�"�و5'ن �"� O وM) N(��� ،:  

2
( )M O M

e
V V

m
= −v و      

2
( )N O N

e
V V

m
= −v  

5.     ع.ت 11,4.10  .M m s −=v  5   و 12,6.10  .N m s −=v  
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 �����8 

)5="�� ا��ا�! -1 )MV f x=  

( )M Q

P Q

V V E MQ E d x

V V E PQ Ed

− = ⋅ = −

− = ⋅ =

��� �����

��� ���� ← M Q

P Q

V V d x

V V d

− −=
−

    

0QVو ?�[ أن ):      ، �Vن= )P
M

V
V d x

d
= −      )1( 

  d و PV:�#! آ) �� -1.2

)���8� ا��ا�!  )MV f x=د���
=� Y���@�         :( ) 240 30MV f x x= = −       )2(  

 ���:E=ا� !�

�#
J     :240 PV@���`))2 و 1(( V=   8   و d cm=   

  *�ة ا�#�
ل ا����%
آ� -2.2

PV Ed=    ←   3 13.10  .E V m −= 

2- �� (���J آ�! �"�و5'ن

:! ا�'9+ ا����%; ��)5P�إ� Q 
 

 
��
�1   
��
�2  

( ) ( )pe pe peE E Q E P∆ = − 

←    ( ) ( )pe Q PE qV Cte qV Cte∆ = + − +  

0QV q و = e= +   

←   pe PE eV∆ = −      

  

( )pe
P Q

E W F
→

∆ = −
��

  

←   ( )pe P QE q V V∆ −−=  

   0QV q و = e= +   

←   pe PE eV∆ = −  

  
173,84.10.   ع.ت  peE J−∆ = −)     240 peE eV∆ = −(  

  
� ����9 

1- �J�85����

aا� a وb و ا��a#� (ا���

�]�! E ��(��ات#"�h 
E a bh= +  

���0h = :1100 .E V m 400 1���  و=− h m= :120 .E V m −=   

←   
100

20 1400

a

a b

=
= +

   ←   
1

2

100 .

0,06 .

a V m

b V m −

−=
≈ −

  

��
��

100            :          و  0,06E h= − 


آ�!*() ا��'ة ا��� ● -2%�  
Eا�#�
ل ا����%
آ�
���

b

\ ��Q !آ�
F، إذن ا��'ة ا����% q E= ⋅
�� ���

 !�

\ ��Q  . 

بو @? d�J 

 ا��4��!�8@
ب *( ���
  . ��#'ع أ*(

dh    :dWا�7() ا���4� E<ل ا���
ل <4�� - F dh qE dh= ⋅ = − ⋅
�� ���

     

��
�"�  :E dh dS⋅ =  )dS(���@� !?
@� �9�� dh��'; و E(  

:    ا�7() ا�� �-
1400 1400

0 00
( )

h h

h hh
W F dW q E dh

= =

= =→
= = − ⋅Σ Σ

��

  


��
�"�   :
1400

0

h

h
E dh S

=

=
⋅ =Σ)  S ا�#��8ف �"* !?
@�OABC(  

1 1
( 1750 100) ( (1750 1400) 100) 84000
2 2OAD BCDS S S= − = × × − × − × =   

←  10 6

0
( ) 10 84 000 8,4.10  

h
W F J− −

→
= − × = −

��
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ع●A5ا]ر ��� +�5 !���� ��

   h ا%���
ج ا���� ا����

0
0

( ) ( )h
h

W F q V V
→

= −
��

 )   !�

�8! ?�� �� ه36 ا�8P !:E� :b

\ ��Q ل
�� !�
?( 

!�=>�� !�

ر %�O اHرض ?��<

 :0 0V =  ←   
0

( ) h
h

W F qV
→

= −
��

  ←     0
( )

h
h

W F
V

q
→= −

��

    

hV 000 84.   ع.ت V=  

3-  
●!��
�aا�'9+ ا� !:
;    :       ppE mgh=    27.   ع.ت 231,67.10 9,81 1 400 2,3.10  ppE J− −= × × =  


:! ا�'9+ ا����%
آ�!●;      :pe hE qV=    19.   ع.ت 141,6.10 84 000 1,3.10  peE J− −= × =  

!�
�J [peE'ز F�"�5 ا�=D'8 �  :!:E! ه qEh=!�

\ ��Q آ�
  . �� ه36 ا�8
�!، Hن *�ة ا�#�
ل ا����%

86.10:      ��
ر�!●pe

pp

E

E
=   ←   pp peE E≪ :  !��
�aا�'9+ ا� !:

:! ا�'9+ ا����%
آ�!  أ�
م��# !;;. 

4- Hا O�% (BJ 
���� رض%��! ا�"�و5'ن 
��

��"�F �"�ه�! ا��
:! ا��8آ�! � � ا�"�و5'ن h0 و
�J�� ،   :  

  
0

0 ( )c
h

E W F
→

− =
��

     ←   2
0

1
( )

2 hm e V V= −v  

←   
2

h

e
V

m
= ⋅v  

.    ع.ت
19

6 1
27

2 1,6.10
84 000 4,0 10  .

1,67.10
m s

−
−

−

×= × = ⋅v  

 
 
 




